Date: 11 March 2024

To

The Listing Department

National Stock Exchange of India Limited

Exchange Plaza, C - 1, Block G Bandra – Kurla Complex

Bandra - (E)

Mumbai – 400 051

Symbol: INDIGO

To,

The Company Secretary & Chief Compliance Officer

InterGlobe Aviation Limited

Emaar Capital Tower II, Sector 26, Sikanderpur Ghosi, M. G. Road

Gurgaon, Haryana - 122002, India

The Department of Corporate Services **BSE Limited**

Phiroze Jeejeebhoy Towers

Dalal Street

Mumbai – 400 001

Scrip Code: 539448

Dear Sir/ Madam,

Name of Company: InterGlobe Aviation Limited

Sub: Filing of report under Regulation 29 (2) of the Securities and Exchange Board of India (Substantial Acquisition of Shares and Takeovers) Regulations, 2011, as amended ("SEBI Takeover Regulations")

I, Mr. Rakesh Gangwal, Promoter of InterGlobe Aviation Limited ("the Company") hereby file the disclosures in the format prescribed under Regulation 29(2) of the SEBI Takeover Regulations, with respect to disposal of equity shares of the Company.

I request you to please take these disclosures on record.

Yours sincerely,

DISCLOSURES UNDER REGULATION 29(2) OF SEBI (SUBSTANTIAL ACQUISITION OF SHARES AND TAKEOVERS) REGULATIONS, 2011

1.	Name of the Target Company (TC)	InterGlobe A	viation Limited			
2.	Name(s) of the acquirer Seller and Persons	Seller: Mr. Ra	Seller: Mr. Rakesh Gangwal PAC: Mrs. Shobha Gangwal, The Chinkerpoo			
	Acting in Concert (PAC) with the acquirer	PAC: Mrs. !				
	Seller	Family Trust	Family Trust (Trustee: Shobha Gangwal & J.P.			
		Morgan Trust Company of Delaware) and Dr. Asha				
		Mukherjee				
3.	Whether the acquirer Seller belongs to	Yes, the Seller is a Promoter of the TC				
	Promoter/Promoter Group					
4.	Name(s) of the Stock Exchange(s) where	BSE Limited ("BSE") and The National Stock				
	the shares of TC are Listed	Exchange of India Limited ("NSE")				
5.	Details of the acquisition/disposal as	Number	% w.r.t. total	% w.r.t. tota		
	follows		share/voting	diluted		
			capital	share/voting		
			wherever	capital of the TO		
			applicable (*)	(**)		
	fore the acquisition / disposal under					
cor	nsideration, holding of:					
a)	Shares carrying voting rights	4,52,46,493	11.72%	11.72%		
b)	Shares in the nature of encumbrance	Nil	Nil	Ni		
	(pledge / lien / non-disposal undertaking /					
	others)					
c)	Voting rights (VR) otherwise than by	Nil	Nil	Ni		
	shares					
d)	Warrants / convertible securities / any	Nil	Nil	Ni		
	other instrument that entitles the					
	acquirer Seller to receive shares carrying					
	voting rights in the TC (specify holding in					
	each category)					
Tot	tal (a+b+c+d)	4,52,46,493	11.72%	11.72%		
Do	tails of acquisition/ sale		***			
a)	Shares carrying voting rights acquired /	2,25,00,000	5.83%	5.83%		
a)	sold	2,23,00,000	3.03%	3.03%		
b)	VRs acquired/ sold otherwise than by	Nil	Nil	Ni		
D)	shares	IVII	IVII	IVI		
c)	Warrants / convertible securities / any	Nil	Nil	Ni		
C)	other instrument that entitles the	INII	INII	141		
	acquirer Seller to receive shares carrying					
	voting rights in the TC (specify holding in					
۸۱	each category) acquired/sold					
	Shares encumbered/invoked/released by	NII	NI:I	NI:		
d)	the acquirer Seller	Nil	Nil	Ni		
Tot	tal (a+b+c+/-d)	2,25,00,000	5.83%	5.83%		
	er the acquisition/ sale, holding of the ler:					
a)	Shares carrying voting rights	2,27,46,493	5.89%	5.89%		
-1	/0	_,_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1 3.0370	5.057		

b) Shares encumbered with the acquirer Seller c) VRs otherwise than by shares Nil						
c) VRs otherwise than by shares d) Warrants / convertible securities / any other instrument that entitles the acquirer Seller to receive shares carrying voting rights in the TC (specify holding in each category) after acquisition disposal Total (a+b+c+d) 2,27,46,493 5.89% 5.89% 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue / preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale face value of ₹ 10/- per equity share) 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380	b)		Nil	Nil	Nil	
d) Warrants / convertible securities / any other instrument that entitles the acquirer Seller to receive shares carrying voting rights in the TC (specify holding in each category) after acquisition disposal Total (a+b+c+d) 2,27,46,493 5.89% 5.89% 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue / preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale face value of ₹ 10/- per equity share) 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380		Seller				
other instrument that entitles the acquirer Seller to receive shares carrying voting rights in the TC (specify holding in each category) after acquisition disposal Total (a+b+c+d) 2,27,46,493 5.89% 5.89% 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale# 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale# Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380	c)	VRs otherwise than by shares	Nil	Nil	Nil	
acquirer Seller to receive shares carrying voting rights in the TC (specify holding in each category) after acquisition disposal Total (a+b+c+d) 2,27,46,493 5.89% 5.89% 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale# 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale# Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380	d)	Warrants / convertible securities / any	Nil	Nil	Nil	
voting rights in the TC (specify holding in each category) after acquisition disposal Total (a+b+c+d) 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale face value of ₹ 10/- per equity share) 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380		other instrument that entitles the				
each category) after acquisition disposal Total (a+b+c+d) 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale frace value of ₹ 10/- per equity share) 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale frace value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale frace value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380		acquirer Seller to receive shares carrying				
Total (a+b+c+d) 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale# 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale# 10. Total diluted share/voting capital of the TC after the said acquisition sale# 10. Total diluted share/voting capital of the TC after the said acquisition sale# 11. March 2024 11. March 2024 Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 Amount (in ₹): 3,85,94,51,380		voting rights in the TC (specify holding in				
 6. Mode of acquisition / sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR-or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale Amount (in ₹): 3,85,94,51,380 		each category) after acquisition disposal				
market / off-market / public issue / rights issue / preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale# 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale# Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 Amount (in ₹): 3,85,94,51,380	Tot	al (a+b+c+d)	2,27,46,493	5.89%	5.89%	
issue /preferential allotment / inter-se transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale (Face value of ₹ 10/- per equity share) 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale Amount (in ₹): 3,85,945,138 Amount (in ₹): 3,85,945,138 Amount (in ₹): 3,85,945,138	6.	Mode of acquisition / sale (e.g. open				
transfer, etc.) 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 Amount (in ₹): 3,85,94,51,380		market / off-market / public issue / rights	On market sale			
 7. Date of acquisition/sale of shares/VR or date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale* 9. Equity share capital/ total voting capital of the TC after the said acquisition/sale* 10. Total diluted share/voting capital of the TC after the said acquisition sale* 11. March 2024 Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 		issue /preferential allotment / inter-se				
date of receipt of intimation of allotment of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale* 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale* Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 Amount (in ₹): 3,85,94,51,380		transfer, etc.)				
of shares, whichever is applicable 8. Equity share capital / total voting capital of the TC before the said acquisition/sale 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale Number of Shares: 38,59,45,1380 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380	7.	Date of acquisition/sale of shares/VR or	11 March 2024			
8. Equity share capital / total voting capital of the TC before the said acquisition/sale Amount (in ₹): 3,85,94,51,380 9. Equity share capital/ total voting capital of the TC after the said acquisition/sale Amount (in ₹): 3,85,94,51,380 Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 Face value of ₹ 10/- per equity share Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380 Number of Shares: 38,59,45,138 Number of Shares: 38,59,45		date of receipt of intimation of allotment				
of the TC before the said acquisition/ sale [#] 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale [#] 10. Total diluted share/voting capital of the TC after the said acquisition sale [#] 10. Total diluted share/voting capital of the TC after the said acquisition sale [#] 10. Total diluted share/voting capital of the TC after the said acquisition sale [#] 10. Total diluted share/voting capital of the TC after the said acquisition sale [#] 11. Total diluted share/voting capital of the TC after the said acquisition sale [#] 12. Amount (in ₹): 3,85,94,51,380 13. Amount (in ₹): 3,85,94,51,380		of shares, whichever is applicable	_			
(Face value of ₹ 10/- per equity share) 9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale* 10. Total diluted share/voting capital of the TC after the said acquisition sale* 10. Total diluted share/voting capital of the TC after the said acquisition sale* (Face value of ₹ 10/- per equity share) Number of ₹ 10/- per equity share) Number of \$\frac{10}{2}\$ Pares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380	8.	Equity share capital / total voting capital	Number of Shares: 38,59,45,138			
9. Equity share capital/ total voting capital of the TC after the said acquisition/ sale [#] 10. Total diluted share/voting capital of the TC after the said acquisition sale [#] Number of Shares: 38,59,45,138 (Face value of ₹ 10/- per equity share) Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380		of the TC before the said acquisition/sale#	Amount (in ₹): 3,85,94,51,380			
the TC after the said acquisition/ sale [#] Amount (in ₹): 3,85,94,51,380 (Face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale [#] Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380			(Face value of ₹ 10/- per equity share)			
(Face value of ₹ 10/- per equity share) 10. Total diluted share/voting capital of the TC after the said acquisition sale# Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380	9.	Equity share capital/total voting capital of	Number of Shares: 38,59,45,138			
10. Total diluted share/voting capital of the TC after the said acquisition sale [#] Number of Shares: 38,59,45,138 Amount (in ₹): 3,85,94,51,380		the TC after the said acquisition/ sale#	Amount (in ₹): 3,85,94,51,380			
after the said acquisition sale [#] Amount (in ₹): 3,85,94,51,380			(Face value of ₹ 10/- per equity share)			
	10.	Total diluted share/voting capital of the TC	Number of Shares: 38,59,45,138			
(Face value of ₹ 10/- per equity share)		after the said acquisition sale#	Amount (in ₹): 3,85,94,51,380			
			(Face value of ₹ 10/- per equity share)			

^(*) Total share capital/ voting capital to be taken as per the latest filing done by the company to the Stock Exchange under Clause 35 of the listing Agreement.

[SIGNATURE PAGE ATTACHED SEPERATELY]

^(**) Diluted share/voting capital means the total number of shares in the TC assuming full conversion of the outstanding convertible securities/warrants into equity shares of the TC.

^{**}Note: The percentages and total share capital are calculated basis the total number of equity shares of the Company as of 31 December 2023 and does not take into account any ESOP allotments post 31 December 2023.

Yours sincerely,

RAKESH GANGWAI

Place: Florida, USA

Date: 11 March 2024